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B. SC. (HONOURS) BIOCHEMISTRY  

(BSCBCH)  

Term-End Examination 

June, 2025 

BBCCT–119 : HORMONE : BIOCHEMISTRY 

AND FUNCTION  

Time : 3 Hours  Maximum Marks : 70 

Note : (i) Attempt any seven questions. 

 (ii) All questions carry equal marks. 

1. Write the name of secreting endocrine gland, 

target organs, chemical nature 

(protein/steroid) and function(s) of the 

following hormones : 4×2.5=10 

(a) Prolactin 
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(b) Gastrin  

(c) Insulin 

(d) Thyroxine 

2. Give a brief description of the following :  

2×5=10 

(a) Hormones of posterior pituitary gland  

(b) Melanocyte stimulating hormone 

3. (a) Explain the role of  –Na / I   symporter 

in the synthesis of thyroid hormones. 2 

(b) What is Hashimoto’s disease ? 2 

(c) Name the hormones secreted by  

testes.  2 

(d) Write any two functions of estrogens. 2  
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(e) Name the hormones released during 

lactation : 2 

(i) Its secretion is stopped due to 

removal of placenta 

(ii) It promotes production and ejection 

of milk. 

4. (a) Write a short note on growth factors. 5 

(b) Explain the signalling pathways 

induced by insulin like growth factor 

(IGF).  5 

5. Describe the pathophysiology of any two of 

the following disorders : 2×5=10 

(a) Osteomalacia  

(b) Type I diabetes mellitus  

(c) Conn’s syndrome 
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6. (a) Name the active form of Vitamin D. 

How does it promote absorption of 

calcium and phosphate ? 1+4 

(b) How does calcitonin affect the 

concentration of blood calcium ? 5  

7. Write about any two functions of the 

following hormones : 5×2=10 

(a) Cholecystokinin (CCK)  

(b) Secretin 

(c) Gastric Inhibitory Polypeptide (GIP) 

(d) Gastrin 

(e) Ghrelin  

8. Describe the anatomy of adrenal gland in 

mammals; explaining its structural 

organization and hormonal secretions. 10  
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9. What are hormone receptors ? Elaborate 

their characteristics and types.  10 

10. Write short notes on any two of the  

following :  2×5=10 

(a) Receptor tyrosine kinases 

(b) ELISA 

(c) Series of events upon binding of a 

hormone to its receptor 

 

 

 

 

 

 

 

 



 [ 6 ] BBCCT–119 

C–2430/BBCCT–119 

BBCCT–119 

foKku esa Lukrd (vkWulZ) tSojlk;u 

(ch- ,l-&lh- ch- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-lh-Vh-&119 % gkWeksZu % tSojlk;u  

,oa dk;Z 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % (i) fdUgha lkr iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- fuEufyf[kr gkWeksZu ds lzkoh var%lzkoh xzafFk] yf{kr vax] 

jklk;fud izÏfr (izksVhu@LVsjkW;M) vkSj dk;Z fyf[k, % 

4×2.5=10 

(v) izksySfDVu 



 [ 7 ] BBCCT–119 

C–2430/BBCCT–119 P. T. O. 

(c) xSfLVªu 

(l) bUlqfyu 

(n) Fkk;jkWfDlu 

2- fuEufyf[kr dh la{ksi esa O;k[;k dhft, % 2×5=10 

(v) i'p ih;w"k xzafFk ds gkWeksZu 

(c) eSysukslkbV LVheqys¥Vx gkWeksZu 

3- (v) Fkk;jkWbM gkWeksZu ds la'ys"k.k esa 
 –Na / I  

lgxked dh Hkwfedk dks le>kb,A 2 

(c) gkf'keksVks jksx D;k gksrk gS \ 2 

(l) o`"k.k }kjk lzkfor gkWeksZuksa ds uke crkb,A  2 

(n) ,LVªkstu ds dksbZ nks dk;Z fyf[k,A 2 
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(b) nqX/k lzkou ds nkSjku mRikfnr gkWeksZu dk uke 

fyf[k, %  2 

(i) IyslsaVk dks gVkus ds dkj.k ftldk lzko #d 

tkrk gSA 

(ii) tks nw/k ds mRiknu vkSj fu"dklu dks c<+krk 

gSA 

4- (v) o`f¼ dkjdksa ij laf{kIr fVIi.kh fyf[k,A 5 

(c) bUlqfyu tSls o`f¼ dkjd (IGF) izsfjr ladsru ekxks± 

dh O;k[;k dhft,A 5 

5- fuEufyf[kr esa ls fdUgha nks fodkjksa dh iSFkksfQft;ksykWth 

foLrkj ls crkb, % 2×5=10 

(v) vfLFke`nqrk 

(c) e/kqesg izdkj I 

(l) dkWu flaMªkse 
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6- (v) foVkfeu ^Mh* ds lfØ; :i dk uke crkb,A  

;g fdl izdkj ls dSfY'k;e vkSj QkWLQsV ds 

vo'kks"k.k dks izsfjr djrk gS \ 1+4 

(c) dSYlhVkWfuu jDr esa dSfY'k;e dh lkanzrk dks dSls 

izHkkfor djrk gS \ 5 

7- fuEufyf[kr gkWeksZuksa ds fdUgha nks dk;ks± ds ckjs esa  

fyf[k, %   2×5=10 

(v) dkWysflLVksdkbfuu (CCK) 

(c) lsØhfVu 

(l) xSfLVªd fujks/kkRed ikWyhisIVkbM (GIP) 

(n) xSLVªhu 

(b) ?kzsfyu 
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8- Lru/kkfj;ksa esa vf/ko`Dd xzafFk dh 'kjhj lajpuk dks blds 

lajpukRed xBu vkSj gkWeksZuh lzko dh O;k[;k djrs gq, 

foLrkj esa crkb,A 10 

9- gkWeksZu xzkgh D;k gksrs gSa \ buds vfHky{k.kksa vkSj izdkj dh 

foLr`r tkudkjh nhft,A 10 

10- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

   2×5=10 

(v) fjlsIVj Vk;jksflu dkbustst 

(c) ELISA 

(l) gkWeksZu ds vius xzkgh ls c¼ gksus ds i'pkr~ gksus 

okyh ?kVukvksa dk vuqØe 

× × × × × 

 

 

 

 


